DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—
151) 290 = 2 = 166) 17478 +4 =
152) 4820 =~ ] = 167 1240 + 2 =
153) 79828 = 10 = 168) 61661 + 10 =
150) 7937 = 4 = 169) 20179 -5 =
155 38151 = 9 = 170) 19205 = 3 =
156) 11942 — 9 = 1) 37584 = 6 =
157 13512 = 6 = 172) 13339 + 3 =
158) TH87 — 6 = 173 36811 9 =
150) 59421 = 7 = 179542 + 1 =
160) 9870 =1 = 175) 64850 - 7 =
161) 47412 =5 = 176) 76015 =9 =
1620 19305 =— 2 = 177) 19229 + 3 =
163) 8933 + 2 = 7). 82606 + 10 =
164) 14943 =— 2 = 179 15299 + 2 =
165) 12395 = 10 = 180) 1899 =2 =
Mathematics: Division - Level § - Horizontal - Set 1 7 culu
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